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H 36 Z7|. GSEHA vs HCHHME (ME, 2019.11.06, 19:00~21:02)
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GSHH A 'S el Faf
67 No Block 574
1670 7 170 1 Block 247 / 27
1007 / 97H 2 Block 8671 / 274
57 /7 174 3 Block 07 / o7
rg227 oY ¥ AR A/ HE s
> SE ME ME Al &0 E27{0f [HE SH7|F H
GsZEA 34 vs e 3
178 7 178(100.0%) No Block 371 7 171(33.3%)
1770 7 67H(35.3%) 1 Block 1070 / 57H(50.0%)
7071 /7 287H(40.0%) 2 Block 7971 7 297H(36.7%)
- 3 Block 570 / 270(40.0%)
*SAMNE /85 (838)
> MEQS 37 22
> GSZEA
E AE %3 AlZERE ol =42
MBS 12(28.6%) 10(23.8%) 3(07.1%) 0(00.0%) 2(04.8%) 15(35.7%)
ME{=< 28(60.9%) 14(30.4%) 2(04.3%) 2(04.3%) 0(00.0%) 0(00.0%)
oA 40(45.5%) 24(27.3%) 5(05.7%) 2(02.3%) 2(02.3%) 15(17.0%)
*SANE (SHZEHE)
> iChHA
E AE %3 AlZERE ol =42
MIET 2| 13(31.7%) 7(17.1%) 6(14.6%) 2(04.9%) 2(04.9%) 11(26.8%)
ME{=< 28(50.0%) 17(30.4%) 11(19.6%) 0(00.0%) 0(00.0%) 0(00.0%)
oA 41(42.3%) 24(24.7%) 17(17.5%) 2(02.1%) 2(02.1%) 11(11.3%)
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Hl 36 A7]. GSZEH A vs HCO{HH (ME, 2019.11.06, 19:00~21:02)
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o 2y &3 s b B7l%= | SHME HAHE sus s3 =k =as A%
1 GSZHA 15 5 0 5 15 3 5.000 448 357 1.255 55
2 e Fak= 9 3 2 5 10 8 1.250 393 387 1.016 11f
3 a4y 7 2 2 4 8 7 1.143 344 312 1.103 11f
4 KGCRI&S A 5 2 3 5 10 13 0.769 461 503 0917 15
5 St 2T A 4 1 4 5 7 12 0.583 390 436 0.894 3mf
6 IBK7| 22 2 1 3 4 4 1 0.364 294 335 0.878 3mf
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